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402 2I2HRHE0l A & 1,200 1,200 0
o 4,500 2,000 2,500
5,700 3,200 2,500
oHEEY 5 2=t XIA(20
2,500,000& 2,500 0 2,500
376,930 0 376,930
< 312,439 0 312,439
= 64,491 0 64,491
376,930 0 376,930
402 DI2EXHE20| A = 312,439 0 312,439
= 64,491 0 64,491
376,930 0 376,930
E DHAS X (T4 ) (L H
140,800, 000& 140,800 0 140,800
140,800 0 140,800
Ey XA (2H)(H4EHA)
112,000,000& 112,000 0 112,000
= 112,000 0 112,000
OLHXZEMNE EHZ KA 12,130,000& 12,130 0 12,130
(= 3,639 0 3,639
= 8,491 0 8,491
B =X
112,000, 000& 112,000 0 112,000
(= 56,000 0 56,000
= 56,000 0 56,000
2,176,490 1,671,395 505,095
= 267,297 136,884 130,413
| 126,492 104,492 22,000
< 495,486 343,716 151,770
= 1,287,215 1,086,303 200,912
2,520 2,800 A 280
900 1,000 A 100
900 1,000 A 100
900 1,000 A 100




S A

X ZH -
S =

el H=EA 2| 4 (el ®2)
SA BB B(S) - NEAY - BAS 04 & o L HIDS2
CIEELAS 252 M 450,000 450 500 50
0IEEL S EHE A0 450,0002 450 500 A50
301 UPHBAD 1,620 1,800 A 180
10 BAAUIRAS 1,620 1,800 180
ONE2LDSES(WARZ) 1,620,008 1,620 1,800 A 180
91,260 100,734 £9,474
S, 2 63,001 68,996 75,905
= 13,445 14,778 A1,333
2 14,724 16,960 £2,236
91,260 100,734 £9,474
2 63,001 68,996 A5,905
206 M =8| = 13,445 14,778 A1,333
2 14,724 16,960 A2,236
01 M=l 91,260 100,734 ~9,474
OjEgeoE o H2oY 91,260,002 91,260 100,734 £9,474
2 63,001 68,996 A5,905
= 13,445 14,778 A1,333
2 14,724 16,960 A2,236
54,520 32,000 22,520
Ep=T) ASETR < 16,241 16,000 241
2 38,279 16,000 22 279
53,920 32,000 21,920
206 T2l = 16,241 16,000 241
2 37,679 16,000 21,679
01 M=zl 53,920 32,000 21,920
OBpEI A= 53,920, 0002 53,920 32,000 21,920
= 16,241 16,000 241
2 37,679 16,000 21,679
802 BHa2IIEl 600 0 600
2 Al-cHEEIsEa 600 0 600
02007 ZAIEIF ASIIAST S A E
oy 600, 0002 600 0 600
61,515 33,320 28,195
malwEE A e 2 19,437 12,138 7,299
= 18, 127 9,282 8,845
2 23,951 11,900 12,051
61.515 33,320 28,19
2 19,437 12,138 7,299
301 LBSBA
< 18, 127 9,282 8,845
2 23,951 1,900 12,051
12 JEEAs 61,515 33,320 28,1%
ONEH LTS A= 3,275,0002! 3,275 7,140 A3,865
2 1,965 4,284 A2,319




sgJlsdH
N FEFUE M) H(sgadabl/=d - &)
N=MFHY =M (H: AR
M- B H2(3H) - NIRAY - BES JE e Hus
& 655 1,428 ANTT3
o 655 1,428 ANTT3
O E=24detg ME 238 58,240,000& 58,240 26,180 32,060
= 17,472 7,854 9,618
[ 17,472 7,854 9,618
o 23,296 10,472 12,824
SEHIEIEUBFA 111,087 121,377 A 10,290
201 2er2gd| 7,560 8,100 A540
01 AtR2teldl 7,560 8,100 A540
Odbtx2H (0l At 2,160 2,400 A 240
o HHIER HA 2,160,000 2,160 2,400 A 240
Ogxtz(oarE2) 5,400 5,700 A300
oI EAXNZMH=E 2,700,000& 2,700 3,000 A300
206 M 24| 94,850 104,600 A9,750
01 THZ= 4l 94,850 104,600 A9,750
OFMS AR (0l &
47,250,000& 47,250 52,500 A5,250
Oozl2gasl(olarE 22,500,000& 22,500 25,000 A 2,500
OJsgas 2 (0l 18,000,000& 18,000 20,000 A 2,000
65,110 49,500 15,610
2 24,750 24,750 0
oMYl & ZH| XA | 2,000 0 2,000
& 7,425 7,425 0
o 30,935 17,325 13,610
51,500 49,500 2,000
= 24,750 24,750 0
307 QIZ2HO| & J| 2,000 0 2,000
& 7,425 7,425 0
o 17,325 17,325 0
02 UAHBAEX 51,500 49,500 2,000
OJN=2n EIUH MEE2S 2,000,000& 2,000 0 2,000
| 2,000 0 2,000
802 Btet= 0| Et 13,610 0 13,610
01 2nExFee3 9,185 0 9,185
02007 HH|atZy|
8,850,000& 8,850 0 8,850
02007 S =9 At oA
335,000& 335 0 335
02 Al - EHIEZXZBHE 4,425 0 4,425
02007 My & LY
4,425,000 4,425 0 4,425
250,832 35,000 215,832
MBS HZIAE XA 2 150,019 21,000 29,019
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=oi)| 2 HIE
AEY HEEMS MADGEN(STHS L/
JlEFEe =M (ol ®8)
S EY (3 - NRAY - B sroy x o HDS2
EM2LHANE KR = 50,004 4,200 25,804
2 70,809 9,800 61,009
250,082 35,000 215,032
2 150,019 21,000 29,019
402 AR =0IE = 30,004 4,200 25,804
2 70,009 9,800 60,209
01 oIAT=EE 250,082 35,000 215,032
OBMELHALT 250,032, 0002 250,082 35,000 215,082
2 150,019 21,000 129,019
= 30,004 4,200 25,804
2 70,009 9,800 60,200
802 5Het2 Il El 800 0 800
NBEFCEELEE 600 0 600
02007 M2 LHRAAETI ALY &
oy 600, 0002 600 0 600
@ Al-SHEZEIWsI 200 0 200
02007 EMSLHRAAETI ALY &
o 200, 0002 200 0 200
ETPEEESS 156,579 166,810 210,231
201 Bt b 16,175 17,750 A1,575
01 At el 16,175 17,750 A1,575
OYBAH (HAEZ) 2,900 3,000 A100
oltEW EET2 900,000 900 1,000 A100
OZHI (A=) 13,275 4,750 A1,475
otEZeaEA 2R 3,375,0008 3,375 3,750 AB75
CHRUMASOL U
9,900,000%! 9,900 1,000 A1,100
202 01t 7,834 8,160 ~326
01 =Uhoil 7,834 8,160 A326
O e 2230l (0l 7,834,0002! 7,834 8,160 A326
301 APHBAD 75,970 84,300 ~8,330
10 BAAHEAS 1,620 1,800 180
ON=LH DI EA (0 1,620,0002! 1,620 1,800 A 180
12 JEBAD 74,350 82,500 A8, 150
O4 SzuplY HEw )
28,350,0002! 28,350 31,500 A3,150
OJE MHE2 BA(KARY) 45,000,000 45,000 50,000 A5,000
ZBOERN ADT Y 23.213 0 23,213
= 23,213 0 23,213
9,720 0 9,720
101 el < 9,720 0 9,720
10 JAHIRAESS 9,720 0 9,720




SN SIS ME
o e FYENE MADIBES(SEHSSN/5Y - SE)
CHol: JIETH Il =N (o ®a)
SN HE SR (3) - MRAY - BAS + X o z2
OXRUBRANASALYASHL2Y(
HYH) 9,720,000% 9,720 0 9,720
= 9,720 0 9,720
13,493 0 13,493
206 A=l = 13,493 0 13,493
01 T2l 13,493 0 13,493
OXRUBRANASAUS YA (S H)
13,493,00024 13,493 0 13,493
= 13,493 0 13,493
30,000 0 30,000
p] 20,000 0 20,000
HACCP XI & XI 24 Abel
= 5,000 0 5,000
2 5,000 0 5,000
30,000 0 30,000
p] 20,000 0 20,000
402 212+XHE 01 F c 5 000 . 5 000
= 5,000 0 5,000
01 SIZREEE 30,000 0 30,000
OHACCP 2148 X E XI 2 AFE! (50 2)
30,000, 0002 30,000 0 30,000
b 20,000 0 20,000
= 5,000 0 5,000
2 5,000 0 5,000
200,000 0 200,000
S2854 HE = 90,000 0 90,000
2 110,000 0 110,000
200,000 0 200,000
402 Q12ERH 20 = 90,000 0 90,000
2 110,000 0 110,000
01 CI2Rt=EE 200,000 0 200,000
Os2254 43 N 200,000,000% 200,000 0 200,000
= 90,000 0 90,000
2 110,000 0 110,000
SR EA Y BN E2IY/RAUSNRA) 500,774 206, 060 294,714
= 400 0 400
2 500,374 206, 060 294,314
RENAANLBLI2Y 500,374 206,060 294,314
S4E SHZS BNY PEAY 2 500,374 206,060 294,314
201 YBreoy| 73,720 76,300 ~2,580
01 Ateaeld| 20,200 22,300 £2,100
Oer4gHl (K A=) 19,200 21,300 A2,100
0OSSHSATS TEMOIE 2Y a4
2 5,400,0002! 5,400 6,000 600
OSSAZ 2P BIAMI 9,000,000 9,000 10,000 A1,000
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S A

M ™S ALY (SYIISHE)(OIEHIIE)
chol: ole= oyl (ctol: &9
SA-FH-SA(SAH) - NREAY - BES Off &K JI A HnsZ
203 AR EX Y| 4,148 4,320 A1T72
04 BASILRENY] 4,148 4,320 ANT2
ORNSYYREX (0 AEY) 4,148,0008! 4,148 4,320 A1T2
o= 2| 29,853 32,674 ~2,821
o=l 29,853 32,674 £2,821
201 Bt oty| 19,053 20,674 A 1,621
01 AtRzell 16,913 18,310 A 1,397
OYBt=2b| (HAEZ) 14,913 16,110 A1,197
0JIZARE S| 1,188,0008 1,188 1,320 A132
OIRIE Ha 3,780,000% 3,780 4,200 A420
EEETI=EIDY 1,080, 0008 1,080 1,200 A120
0=AD| CH 945,0002! 945 1,050 A105
0 ZALEXI( Ad) 1,620,0002 1,620 1,800 A180
0 ZAHZHI( B4) 2,160,000% 2,160 2,400 A 240
OSHI(Na =2 2,000,000% 2,000 2,200 200
02 B2 2,140 2,364 224
OZZR2 L MM (CIAE) 2,020,000% 2,020 2,244 224
202 01H| 10,800 12,000 A1,200
01 =0l 10,800 12,000 A 1,200
OZ2 01t (ZSZHI) (0 A=)

10,800,000 10,800 12,000 A 1,200
SZ SN (SYHYLM/5Y - 55) 298, 157 269,133 29,024
= 38,187 33,987 4,200
= 3,500 3,500 0
< 13,835 18,035 14,200
= 242,635 213,611 29,024
224,461 220,937 3,524
= 27,441 23,241 4,200
sSgRsd 84 = 3,500 3,500 0
< 12,835 17,035 4,200
= 180,685 177,161 3,524
Y=EHDS 56,734 59,780 13,046
201 Bty 22,125 24,500 ~2,375
01 AtRzeldl 21,375 23,750 ~2,375
OYBt=SH| (KR Z) 16,200 18,000 A 1,800
oMM =L DS DI 10,800,000 10,800 12,000 A 1,200
CHEEYSHIWS LI 5,400,000 5,400 6,000 600
oF3=ER={{VINF-EI}) 3,600 4,000 400
OMHLSHADS A+ 1,800,000} 1,800 2,000 200

OMMYSEN L BSY HEDSUA
~g 1,800, 0008 1,800 2,000 £200
OSHI(HaEZ) 1,575,0008 1,575 1,750 A1T5
202 014 5,709 14,280 1,429
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SN SIS
M 5= ASH(STHYLL/SY - 5E)
ol molmeole S (ol ®2l)
SN HH - S(B) - MRAY - BES 0 Ak o 713 o HRE2
01 2hoitl 15,709 14,280 1,429
OPIE-ERS-T 15,709,002 15,709 14,280 1,429
301 LA 18,900 21,000 £2,100
10 BAMHIEAS 8,900 21,000 £2,100
OMMHESEA DS B2 (HaE2)
18,000,0002! 18,000 20,000 £2,000
OME FX2Y HEBHDS(HAED)
900, 0002 90 1,000 A100
sJ1Jzsl¢el Jlsns 19,300 20,400 A1,100
201 282 Y| 3,300 3,400 2100
01 At 800 900 A100
O = (& EZ) 800 90 A100
0SIIHD2 D= 800, 0002 800 900 A100
206 T2 16,000 17,000 A1,000
EEED 16,000 17,000 A1,000
OESF BT ENPE-E)
9,000,000 9,000 10,000 A1,000
seolciss 48,570 40,900 7,670
201 olBre aib| 1,300 1,400 A100
01 At 1,300 1,400 A100
OLRE(HEZ) 900 1,000 A100
OSEXNTXHE A MY
900, 0002 900 1,000 A100
301 st 16,550 7,500 9,050
07 l2rel= el 0t 9,750 0 9,750
Osgiolst s Hsl® aHeleis
1,300,000 * 15 *50% 9,750 0 9,750
10 BAMHIEAS 6,800 7,500 ATO0
OsQioIstSEH IRAE &4 (HAEY)
2,700,000% 2,700 3,000 A300
O5s SN+ ST NS (04 E
2) 1,600,002 1,600 2,000 A400
307 BI2HOIH 30,720 32,000 A1,280
2 PIAANBE 21,120 22,000 2880
OSUSSSHSL (A=) 21,120,008 21,120 22,000 £880
04 SIZFEARE 9,600 10,000 A400
OssS Tl SHH S5 (0 4E)
9,600, 0009 9,600 10,000 2400
10,800 10,800 0
nsse 2 5,400 1,200 4,200
= 0 4,200 ~4,200
2 5,400 5,400 0
2,000 2,000 0
301 LHBH 2 1,000 1,000 0
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FA sglI=dH

M SE OASM(SUNLLM/EY - 5E)

Crol: =izt (cel @8
S EM O (BH) - NRAY - Ba= 01l &t o o1 o H D=2
307 QI2t0| ™ 9,600 10,000 A400
04 QI2HHALE X 9,600 10,000 A400
OsgPPel T ASUE (HAED)
600,000%! 9,600 10,000 2400
AN RSO AU LI (SUHSAL/ 5 - BE) 2,355,700 2,205,248 150,452
= 484,405 481,955 2,450
< 487,761 482,076 5,685
= 1,383,534 1,241,217 142,317
1,224,877 1,090,028 134,849
DTEX SAS MAD|aSD = 36,405 33,955 2,450
c 226,961 211,676 15,285
= 961,511 844,397 117,114
3,500 0 3,500
DT o 04 2 Al &2 - 2400 0 240
< 525 0 525
= 525 0 525
3,500 0 3,500
) = 2,450 0 2,450
302 OIFL TR A2 - oo . s
= 525 0 525
02 QIZIOITHoHE &3 3,500 0 3,500
Ot REIH= PR A 3,500,000 3,500 0 3,500
= 2,450 0 2,450
= 525 0 525
= 525 0 525
ANesgol o sasSXd 412,834 334,660 78,174
201 Yere o 14,200 19,000 24,800
01 Azl 14,200 19,000 74,800
Oget=gH (0 A=) 7,200 8,000 A800
0EININEEY DETE M
7,200,000 7,200 8,000 A800
OB+ (AT 6.000 10,000 £4,000
oHAAA = WSS AMNTY 6,000,000 6,000 10,000 24,000
202 Odd| 7,830 8,160 A 330
01 =Wl 7,830 8,160 A 330
Ol (o= ) 7,830,000& 7,830 8,160 A330
301 LEBAZ 9,000 10,000 21,000
10 SAIAHIZAZ 9,000 10,000 A 1,000
OZIMIISTY DREH (LT
9,000,000 9,000 10,000 A 1,000
307 BI2H0| & 30,000 0 30,000
04 QIZHHAIE X 30,000 0 30,000
OB SHHA T2
30,000,000& = 13l 30,000 0 30,000
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FA sglI=dH

HE: A NSO WS Y (SPHYLL/5Y - 5&)
Col: DEN SMS MA)EE3 (crol ®el)
SN -EH . CR(BH) - HRAY - B2 Ofl Ak O I E o HRE
402 2I2tXHE01A 349,500 297,500 52,000
01 Zt=E=x 349,500 297,500 52,000
OULZE 2SS FAE 150,000, 000& 150,000 98,000 52,000
802 Bret=JIE 2,304 0 2,304
01 2NEBxZEte=z 1,920 0 1,920
02007 b2 M MDA He o
1,920,000& 1,920 0 1,920
02 Al -EHEXIEEZS 384 0 384
02007 OH=Z M MDA Ee o
384,000 384 0 384
DS == K& 158,375 134,720 23,655
201 Lut2 o 4,300 4,600 A300
01 AtR2cltl 4,300 4,600 A 300
Oge I (HaEZ) 2,700 3,000 A300
out==Z&HEII3 XZHE 900, 000& 900 1,000 A 100
OEASUFY LALEENS
1,800, 000& 1,800 2,000 A 200
202 04l 5,875 6,120 A 245
01 =UWobl 5,875 6,120 A245
OJI2g=dHoidl (ol E2) 5,875,000& 5,875 6,120 A245
206 X =8| 900 1,000 A 100
01 THZHI 900 1,000 A100
Ot HHBLH Al 5% (HAED
) 900,000 900 1,000 A 100
301 et a3 4,300 7,000 A2,700
10 SAAHIENS 3,600 4,000 A400
O22 =xt &2y STX A5t A (04
) 3,600,000& 3,600 4,000 2400
12 JIet243 700 3,000 A 2,300
OS2 ST ADBHZ(ULEY)
700,0002! 700 3,000 A2,300
402 R X201 H 143,000 116,000 27,000
01 2Ztt=EEx 143,000 116,000 27,000
ODBE ALY (BAES) NS AL
100,0002! * 3002 30,000 0 30,000
O%Z B S+ENTY(HAEZ)
27,000,000& 27,000 30,000 23,000
29,520 0 29,520
Dt ZMTHHH(SSM)AIE AL = 14,760 0 14,760
o 14,760 0 14,760
29,520 0 29,520
402 RI2 X201 H = 14,760 0 14,760
2 14,760 0 14,760
01 2= X 29,520 0 29,520
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SA: SIS HE
Z: AR FW

Col: DEX =A2 MAJIER S (ctel:®8l)
SN HH S (BH) - HEAY - BHES Off &F 04 el Hnz2
OB+ ZHTHHH (SSM)AIE ALY
29,520, 0002 29,520 0 29,520
= 14,760 0 14,760
2 14,760 0 14,760
1,130,823 1,115,220 15,603
R 2 448,000 448,000 0
= = 260,800 270,400 9,600
2 422,023 396,820 25,203
1,020,823 1,005,220 15,603
2 448,000 448,000 0
FTA X1 ALSS
= 205,800 215,400 9,600
2 367,023 341,820 25,203
983,220 999,220 16,000
2 442,000 442,000 0
4z S t=old = 205,800 215,400 A9,600
= 335,420 341,820 6,400
01 SIAREBE 983,220 999,220 16,000
OSSN TAR &S DA ML
12,800, 0002 12,800 28,800 16,000
= 4,800 14,400 9,600
2 8,000 14,400 6,400
802 BretZJIE} 31,603 0 31,603
01 =2nEXIWE 31,603 0 31,603
020074 FTA DRHAXZAIY ZBE oY
31,603, 0002 31,603 0 31,603
SEMSNAMNY (SEHS LA/ 5Y - 5E) 791,510 798,960 A7,450
2 190,000 190,000 0
= 25,000 25,000 0
= 4,350 4,350 0
= 572. 160 579,610 A7,450
436,510 443,960 A7,450
2 15,000 15,000 0
S0l MO B MHSHAY 2 25,000 25,000 0
= 2,850 2,850 0
2 393,660 401,110 A7,450
Cldselol 2 MENNE 2Y 346,010 353,460 A7,450
201 2Br2 o] 13,420 14,800 ~1,380
01 AtRZ2|Hl 13,420 14,800 A1,380
Oer4gHI (0l A=) 900 1,000 A100
OMESIFET S| 900, 0002 900 1,000 A100
OSP4+ (MarE) 11,520 2,800 A1,280
OMEINLE BSS HlET BAEY
1,440, 0002 1,440 1,600 A160
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SA: SIS HE
M SEMETAN (SHHSLL/ 5L - 5E)

Cigl: =olol solm SAT MESsAY EEIED
SA - EB O (SIH) - MBAIY - BAS 0f &t o o) o H RS2
CESE NS eival DNUE 2AAT
7,200, 0002 7,200 8,000 800
CMETEIISDE VALY 1,440,000 1,440 1,600 A160
CONHSE DYAF LAY
1,440,000 1,440 1,600 A 160
202 Old| 7,840 8,160 A320
01 =Wl 7,840 8,160 A320
OJI=A2 4O (MAEL) 7,840,002 7,840 8. 160 £320
206 T 38,000 42,000 4,000
01 M Z 4l 38,000 42,000 A4,000
OB2Y meoins BHSE ASHE (0
a2 14,400,0002! 14,400 16.000 1,600
OSH MEHHESE 4STHE (AT
9,900,000 9,900 11,000 A 1,100
SEOHTSI DAAT HSTHE (Y
H2) 9,000,000& 9,000 10,000 A 1,000
OHESA AS3 57 DHAR HSHE
CREES 2,700,000 2,700 3,000 £300
301 LB a3 7.750 8,500 A750
10 HAIABIEAZ 7,750 8,500 AT50
OMENME DS KIS (31224
Ol AP E 24 1,800,000 1,800 2,000 A 200
OMETE JEDS BHEN(HAE)
1,800,000 1,800 2,000 A 200
OsE0/8 28 DAUVH DIEA (0
H2) 1,800,000 1,800 2,000 A 200
OMENN S, 5 DS EH(HLE)
1,350,000 1,350 1,500 A 150
307 212H0| & 9,000 10,000 21,000
IEEEPEE: 9,000 10,000 1,000
OSAMNLE HESHEMTR (HAED)
9,000,000& 9,000 10,000 A 1,000
IS5 T2 (5 2o =) 428,950 430,742 1,783
2 121,906 119,631 2.275
= 40,000 40,000 0
< 16.000 16,000 0
[ 251,053 255,111 A4,058
428,950 430,742 71,763
2 121,906 119,631 2.275
= 40,000 40,000 0
& 16,000 16,000 0
= 251,053 255,111 A4,058
28,935 26,660 2,275
= 2,275 0 2,275
o 26,660 26.660 0




FA sglI=dH

I RS WHDIS(SEHL /Y - SE)
SHol: XoiSast Dl ol (Etl:®P)
SA B SRI(E) - HRAY - BES 0] & plEL" HlmE 2
18,275 16,000 2,275
206 TH2 Ul = 2,275 0 2,275
= 16,000 16,000 0
IRETT 18,275 16,000 2,275
O% ASBHUSAY ESAA H2PY
7,0002 * 325% 2,275 0 2,275
2 2,275 0 2,275
ASNEEY 2Y 53,760 57,818 ~4,058
101 91 24H| 15,570 16,218 £648
10 JI2M22XS2 S 15,570 6,218 A648
OMBANYEIZR LY (HAEY)
6,710,00024 6,710 7,358 £648
201 2Br2 2tH] 2,040 13,600 A1,560
01 AtRE2|Hl 3,400 4,000 600
OYBt 2| (K AH) 3,400 4,000 A600
0 SN AIL R b 3,400,000 3,400 4,000 A600
02 ZZSYHI 8,640 9,600 A960
O ZHI (0 & =) 8.640 9,600 £960
OSUMBAL 5HRA Lrety|
8,640,000 8,640 9,600 A960
206 TH2 bl 8, 100 9,000 A900
NERETT 8,100 9,000 £900
OZS2E2YTTHTY (M AE )
8,100,000 8,100 9,000 A900
401 Al SHIL 2] 13,300 14,000 A700
04 Al&| 13,300 14,000 AT00
OBtSAHIY L HILSEN(0IARE)
13,300, 0002 13,300 14,000 AT00
402 D12t 20| 4,750 5,000 A250
01 PIAREBE 4,750 5,000 A250
OS+0ZSAZLX (HAEY) 4,750,008 4,750 5,000 A250
SENLAL (SYHS S/ - 5&) 8,463,086 7,502,177 960,909
2 3,362,000 3,330,000 32,000
2 7,807 7,807 0
= 1,471,500 967,500 504,000
2 3,621,779 3,196,870 424,909
SENLARSY 46,541 52,632 6,001
SENLALRY 46,541 52,632 6,001
201 YBr2 | 39,755 45,654 75,899
01 AlR22lHI 32, 181 37,630 5,449
OYBr4gH| (K A=) 31, 181 36,630 5,449
OUBIBT LTAALLE 10,226, 00021 10,226 2,080 A1,804
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FA s

2ol=dH

HI: SENLAL(SHSS M/ S5 - &)
CHol: sENUAI RN (el @)
SA - H2(EH) - HEAMY - BES Ol AF oK ) =) e il = 2
ORNEBZHINEZESYL42

20,655,000 20,655 24,300 A3,645
02 2224l 7,574 8,024 A450
OA&EHI | X 4,574 5,024 A450
o SHoH CH 24 0l R F 1| 2,700,000 2,700 3,000 A300
oBtHIN ML HY 1,350,0002 1,350 1,500 A 150
202 01 H 4,608 4,800 A192
01 =2UHoitl 4,608 4,800 A192
OJ|=2L 240 (0 AHE ) 4,608,0002 4,608 4,800 A192
8,416,545 7,449,545 967,000
z 3,362,000 3,330,000 32,000
SERL A = 7,807 7,807 0
= 1,471,500 967,500 504,000
= 3,575,238 3,144,238 431,000
=EHEL ARSI 2,323,545 2,113,545 210,000
401 Al&H|I Y 20| 2,273,545 2,063,545 210,000
04 Al&H 2,260,000 2,050,000 210,000
ORE HEHAHHHIZA 50,000, 000& 50,000 0 50,000
OAlQh AU 2 F HI B At 20,000, 000¢ 20,000 0 20,000
Oatd LA =Z2FH A 50,000,000 50,000 0 50,000
O HE MY L =2 F I 40,000, 0008 40,000 0 40,000
OtlsS S3L+TUs24 25,000,000 25,000 0 25,000

ONSRUARKNHELIEXNLS2EE
25,000, 000% 25,000 0 25,000
30,000 13,000 17,000
FED =SYTLHALY = 13,000 13,000 0
= 17,000 0 17,000
30,000 13,000 17,000
401 Al&HI L2 HH| = 13,000 13,000 0
= 17,000 0 17,000
04 Al&H 30,000 13,000 17,000
OFII=FHIHAY 30,000,000 30,000 13,000 17,000
= 13,000 13,000 0
= 17,000 0 17,000
40,000 0 40,000
— z 32,000 0 32,000
= 4,000 0 4,000
= 4,000 0 4,000
40,000 0 40,000
z 32,000 0 32,000
401 AlEHI LSO = 4,000 0 4,000
> 4,000 0 4,000
04 Al&H 40,000 0 40,000
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S A

X ZH -
S =

SR
SENLAL (YWY /5Y - 5&)

ST [l=] o /S

CHol: s EIN ALY (el @)
SA - H2(EH) - HEAMY - BES Ol AF oK ) =) e il = 2
OMBE N 2RI IS ALY 40,000,000 40,000 0 40,000
z 32,000 0 32,000
= 4,000 0 4,000
z 4,000 0 4,000
600,000 0 600,000
AJI 242 FH ALY < 500,000 0 500,000
= 100,000 0 100,000
600,000 0 600,000
401 AlA&HI L2 HH| = 500,000 0 500,000
= 100,000 0 100,000
02 AAIA A 20,340 0 20,340
Q4D Z24+2HH| ALY
600,000,0002 = 3.39/100 20,340 0 20,340
[ 20,340 0 20,340
04 Al&H 575,340 0 575,340
Q4D ZB4+2HH| ALY 575,340,000 575,340 0 575,340
< 475,340 0 475,340
z 100,000 0 100,000
06 A2 4,320 0 4,320
OAJIE42FHIAIY 20
600,000,000 *0.72/100 4,320 0 4,320
= 4,320 0 4,320
MUK REA0ISEA ALY 100,000 0 100,000
401 A& HI Y 2 HY] 100,000 0 100,000
02 A A& A 20,000 0 20,000
OAMXI T MANIS XA (B XIH)
20,000,000 20,000 0 20,000
04 Al&H 54,280 0 54,280
OAUXT? MADSZTH0IR2IAY
54,280,0002 54,280 0 54,280
06 Al&=0H 25,720 0 25,720
OAUX T MOISES0IR2IAI 2] 25,720 0 25,720
0SULL2 25,000,000 25,000 0 25,000
o JE+E T 100,000,000 * 0.72/100 720 0 720
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